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7-3=4
2-10=-8
_____=__
_____=__

3-7=-4
10-2=8
_____=__
_____=__

_____
_____

Multiplicationiscommutativeforwholenumbers
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7x3=21
_____=__
_____=__
_____=__

3x7=21
_____=__
_____=__
_____=__

_____
_____
_____
_____

a)5x7=_____x5

c)___x21=21x3

b)9x17=_____x__

d)12x___=2x12



a)

b)

c)
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(AssociativeLaw)

Associativity	of	addition	for	whole	numbers

a)4,7,3
b)3,2,5
c)__,__,__

(4+7)+3=11+3=14
(__+__)+__=_+_=__
_______________

4+(7+3)=4+10=14
(__+__)+__=_+_=__
_______________

_______________
_______________
_______________



a)	(4+7)+5	=__+(7+5)

b)	(_+2)+15	=10+(2+15)

c)(a+b)+c	=a+	(____+____)

Associativity	property	for	multiplication	of	whole	numbers

a)3,5,2
b)9,1,5
c)__,__,__

(3x5)x2=15x2=30
(__x__)x__=_x_=__
_______________

4+(7+3)=4+10=14
__x(__x__)=_x_=__
_______________

_______________
_______________

a)	(4	x	7)x	10=4x	(__x	__)

b)	(5	x3)	x4)	=__x(3	x__)

c)	(ax	b)	xc	=a	x(__x	__)



(a) x	__

(b) __x

(c) x	__ x	__

x	__ x	__

x	__

a)	14x9	=	(2x7)x9	=	2x(7x9)	=	2x63	=126

b)	18x7	=	(_x_)x9=	_x(_x_)	=	_x_=____

c)	15x8	=	(_x_)x_=	_x(_x_)	=	_x_=____

a) (5-4)-3	=5-(4-	3)

b) 15	5)	3	=15	(5	3)

Distributivity	of	multiplication	over	addition	for	whole	numbers



1)	115x7	+115x3=115x(7+3)=	115x10	=1150

2)	900x12+900x8=__x(__+__)=	___x___	=______

3)	5178x8+5178x2=__x(__+__)	=	__x___	=______

4)	79x800+79x200=__________	=	________=______














